| dE/dx estimator 1 |

Ratio

0.25

0.2

0.15

0.1

0.05

Entries 626179
Mean 2.518

Enties 626179
Mean 2.517
Std Dev 1.652

......................................................................

=
L

1 2 3 4 5 6 7 8 9 10
dE/dx, harm?2

Ratio

| dE/dx estimator 2 |

0.25

0.2

0.15

0.1

0.05

Entries 626179
Mean 2.417

Entries 626179
Mean 2.416

Std Dev 1.642

ok

||||?||||
L
L

0.95

123456

o

7 8 9 10
dE/dx, trunc40

=—=— DQM_TT__originalREDO

0.25k
0.2}

0.15

o £ o e e o e

T

0.1

0.05f

I"I""'I"1'

=—— run_tt/DQM_TT__onlyHits_option0

E Mean 4.933
i | std Dev 5.346

¢ | Entries 626179
¢ | Mean 4.933
. | std Dev 5.346

............................................

......................................................................

r
T F-F-f—F T -F- T

11|lllllllll||||||‘

T T F 1T FF"

0.95%

IIT]IIIIIIT]]I||||‘

o

10 20 30 40 50 60 70 80
dE/dx number of measurements

0.1

+.[Entries 626179
‘| Mean 0.2269
i | std Dev 0.5433

CTToTeS 626179

: | Mean 0.2268
: Std Dev 0.5433

.........................

.........................

TRYA)

Ratio

£l
.||

r

H

0.95%

dE/dx number of measurements

0 10 20 30 40 50 60 70 80

with saturation



	Contents
	Page 1


